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JE £z K4 7Rt ool | TR | R | R Ed k=
1 [HE £Z LTy ITF 17 | 12 | /6 0:11:07
2 |UAR &5 YIYES 212 25 Z | 11 |/6] 0:11:59
3 |&R FW AHhs Y 11 Z | 12 | /6| 0:12:10
4 | EBE AHLZ A= 3 Z | 12 | /6 0:12:18
5 |BEH BRI 704 LA 37 Z |10 [ /5] 0:12:46
6 |=ZR fEF SINT BV 21 | 12 | /6 0:13:01
7 kg #E hoHF% 7R Z |12 | /6] 0:13:15
8 |EET =M 3y EF= Z | 11 |/6] 0:13:36
9 | K& Bx FTA52= eF 30 | 11 |5 0:14:10
10 @+ B = LT T 35 Z | 10 | /5 0:14:59
11 |£H HEFHEE k4 FUR 34 Z | 11 |5 0:15:10
12 (K MRJhEE ARXFx R/AH 10 & | 12 | /6 0:15:15
13 |28 &E LB JhTF 18 Z | 11 [/6]| 0:15:16




